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Math 16A Midterm 1(Practice 1)

This exam consists of 5 questions. Answer the questions in the
spaces provided.

1. Determine the domains of the following functions:
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2. (25 points) A product is to be supplied and sold. If the price per unit is 5 dollars the
supplier is willing to provide 1 unit. If the price per unit is 14 dollars the supplier is
willing to provide 4 units. If the price per unit is 12 dollars the demand is 2 units. If

the price per unit is 9 dollars the demand is 5 units.

(a) Determine the supply and demand equations in this situation.
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(b) For what prices per unit will there be a surplus?
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3. Calculate the following limits. If they do not exist determine if they are oo or —oo.
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4. Using limits, calculate the derivative of f(z) = 3z7%2. = 3
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5. let f(x) = %, for a a real number. Is there a value of a for which lim,_,; f(z)
exists? Carefully justify you answer.
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END OF EXAM



